3 (Sem-6) PHY M 4
2019
PHYSICS
( Major )
Paper : 6.4
Full Marks . g0

Time * 3 hours

The figures in the margin indicate full marks
for the Questions

Write the answers 10 the ™0 Groyps in separate books

( statistic® Mechanics )

1. Answer the fouowing Mestions . 1x4=4

istical b
(@) Give the statis?™ definition of entropy.

(b)) What is permi “"rgyp

(c) State Liouvill®® the"rt‘m.

u e,
(d) What do? yo "0 by fosons’ and
fermions

Wu’lg q‘-le A
2. Answer the follo Jefing Stions . 2x3=6

u
(@ How do YO ynat ist}.le most probable
macrostalte 5icS? Its Importance in
statistic :
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(2) (3)

(b) Name the statistics which is obeyed by Or

photoelectrons and photons.
(c (i) Starting from

(c) What is phase space and how can it be g(pdp= ;‘% I I J‘ dp, dpy dp,

related to elementary cell?

find the number of phase space

3. Answer the following questions : 5x2=10 cells lying in the momentum
i : interval p and p+dp, and energy
(a) Assuming M-B djstribution of molecular il :

velocity, show that the most probable

- . .o B 11! . . - .
velocity is given by (i) Using Maxwell's velocity distribution

law, obtain the energy distribution
UN = 2K law for the Kinetic energy u. 5
o'~ 'm
(b) Compare the dig¢ripution laws according GROUP—B

to M-B, B-E apnq p-D statistics. Under ( Computer APPplications )
what conditiong do B-E and F-D

statistics yield q5gsical result? ~( Marks : 30 )
1. State True or False : 1x3=3
4. Answer any one of the following : : 10 (@) Arithmetic operators gare associative
fa) What are fermjons? Write down the from left to right.
postulate of F.p statistics. Derive an (b)) Keywords can be Useq 55 identifiers.
expf'ession for the probability distri- (c) Loops cannot be nesteq
bution of pap;.jes governed by F-D
statistics. 1+2+7=10 2. Write FORTRAN-95 or C or oi; gtatements

to perform the following tagyy - N+2=4

{b) What is B-E c(,ndensation? Explain B-E
condensation applying B-E statistics.
Define gas degeneracy- 1+8+1=10

(@) To increment each €leyep+ of an array
by 5

(b) To find the result of
2+4+6+ 20 T~
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